

Quasiperiodic Solutions for Reversible Oscillators at Resonance *

Bin LIU & Rui WANG
LMAM, School of Mathematical Sciences
Peking University
Beijing 100871, P.R.China

Abstract. We consider the existence of quasi-periodic solutions for the following non-linear differential equation

$$x'' + f(x)x' + n^2x + \phi(x) = p(t)$$

where p is a 2π -periodic function and n is a positive integer. Under some assumptions on the parities of f, ϕ and p , we prove that there are infinitely generalized quasi-periodic solutions based on a result of S.N. Chow and M.L. Pei for Aubry-Mather theory for reversible mappings.

AMS Subject Classifications. 34C15, 58F27

Keywords and phrases. Reversible systems, Aubry -Mather sets, boundedness of solutions, Moser twist theorem

1 Introduction and main results

In this paper, we shall be concerned with the existence of quasi-periodic solutions in generalized sense of the nonlinear Liénard equations

$$x'' + f(x)x' + n^2x + \phi(x) = p(t), \tag{1.1}$$

where f and g are smooth in x , p is a 2π -periodic function and n is a positive integer.

When $f \equiv 0$, the equation (1.1) is reduced to

$$x'' + n^2x + \phi(x) = p(t),$$

which is a special form of Duffing equations

$$x'' + g(x) = p(t). \tag{1.2}$$

*Supported by NSFC 10325103 and TRAPOYT.

As the simplest but nontrivial Hamiltonian systems, (1.2) has been extensively investigated by many authors. Using Topological degree theory, variational methods, fixed point theorem with the analysis of phase plane and so on, the existence and multiplicity of periodic solutions have been obtained. Since 1970's, there are some results on the existence of quasi-periodic solutions as well as boundedness of solutions based on the celebrated Moser's twist theorem. The first result was due to Morris [10], in which he proved that there are infinitely many quasi-periodic solutions for the equation $x'' + 2x^3 = p(t)$. We refer to [3], [5], [14], [6], [13], [12] and references therein for recent developments.

When $f(x) \not\equiv 0$, the system (1.1) is not Hamiltonian in general. In this case, under some symmetric assumptions on ϕ , f and p , this system becomes reversible. So, one may use KAM theorem for reversible systems to obtain the existence of quasi-periodic solutions. In [4], the authors proved that if

$$4|\phi(+\infty)| > \left| \int_0^{2\pi} p(t)e^{int} dt \right|,$$

then there are infinitely many quasi-periodic solutions and every solution is bounded. Moreover, if the above inequality is reversed, then there are unbounded solutions. A similar result for Duffing equations can be found in [6] and [13].

A natural question is what will happen if

$$4|\phi(+\infty)| = \left| \int_0^{2\pi} p(t)e^{int} dt \right|.$$

It is the task of the present paper. We will show that under some reasonable assumptions, Eq. (1.1) has also quasi-periodic solutions in generalized sense, that is, the Poincaré map of (1.1) has Mather sets.

Let F be the integral of f , that is, $F(x) = \int_0^x f(t)dt$, and suppose that

- (a1) $f, \phi, p \in C^2(\mathbb{R})$.
- (a2) f, ϕ and p are odd, p is 2π -periodic in t .
- (a3) $\lim_{x \rightarrow +\infty} \phi(x) =: \phi(+\infty) \in \mathbb{R}$, and $\lim_{|x| \rightarrow +\infty} x^2 \phi''(x) = 0$.
- (a4) $|x^k F^{(k)}(x)| \leq M$, $x \in \mathbb{R}$, $0 \leq k \leq 2$, for some constant $M > 0$.
- (a5) The limit

$$\lim_{x \rightarrow +\infty} x^\sigma (\phi(x) - \phi(+\infty)) = C_+,$$

exists, where $\sigma \in (0, 1)$ is a constant.

Remark 1. (1) The function F is even because f is odd.

(2) Since ϕ is odd, it follows that $\lim_{x \rightarrow -\infty} \phi(x) =: \phi(-\infty) = -\phi(+\infty)$ does exist.

(3) The condition (a3) implies that

$$\lim_{|x| \rightarrow +\infty} x \phi'(x) = 0.$$

(4) Since ϕ is odd in x , we have

$$\lim_{x \rightarrow -\infty} |x|^{\sigma-1} x(\phi(x) - \phi(-\infty)) = C_+.$$

Now we are ready to state the main results in this paper.

Theorem 1 *Suppose (a1)-(a5) hold, and*

$$4|\phi(+\infty)| = \left| \int_0^{2\pi} p(t)e^{int} dt \right|,$$

then there exists $\epsilon_0 > 0$, such that for any $\omega \in (n, n + \epsilon_0)$, (1.1) possesses a solution $(x_\omega(t), x_\omega'(t))$ of Mather-Type with rotation number ω .

(i) *If $\omega = p/q$ is a rational number, the solutions $(x_\omega(t+2i\pi), x_\omega'(t+2i\pi))$, $0 \leq i \leq q-1$ are periodic solutions with $2q\pi$ as period and*

$$\lim_{\omega \rightarrow n} \min_{t \in \mathbb{R}} (|x_\omega(t)| + |x_\omega'(t)|) = +\infty.$$

(ii) *If ω is an irrational number, solutions $(x_\omega(t), x_\omega'(t))$ are either usual quasi-periodic solutions or generalized quasi-periodic solutions.*

Remark 2. A solution is called generalized quasi-periodic if the closed set

$$\overline{\{(x_\omega(2i\pi), x_\omega'(2i\pi)), i \in \mathbb{Z}\}}$$

is a Denjoy's minimal set.

If $\phi(+\infty) = \int_0^{2\pi} p(t)e^{int} dt = 0$, we may get the classical quasi-periodic solutions provided that the functions f , ϕ and p are smooth. More precisely, we have

Theorem 2 *Suppose the following assumptions hold:*

(A1) $f, \phi, p \in C^6(\mathbb{R})$.

(A2) f, ϕ, p are odd and $p(t+2\pi) = p(t)$.

(A3) $\lim_{|x| \rightarrow +\infty} x^k \phi^{(k)}(x) = 0$ for $0 \leq k \leq 6$.

(A4) $|x^k F^{(k)}(x)| \leq M$, $x \in \mathbb{R}$, $0 \leq k \leq 6$, for some constant $M > 0$.

(A5) *The limit*

$$\lim_{x \rightarrow +\infty} |x|^{\sigma-1} x\phi(x) = C_+,$$

exists, where $\sigma \in (0, 1)$ is a constant. Then (1.1) has infinitely many quasi-periodic solutions, and every solution $(x_\omega(t), x_\omega'(t))$ is bounded, that is,

$$\sup_{t \in \mathbb{R}} (|x_\omega(t)| + |x_\omega'(t)|) < +\infty.$$

2 Important transformations

Because the assumptions of Theorem 1 and 2 are similar, for simplicity, throughout this section, we assume that the conditions (A1)-(A4) in Theorem 2 and (a5) in Theorem 1 are satisfied. Without loss of generality, we also assume $n = 1$ in (1.1).

Rewrite (1.1) into an equivalent system

$$x' = y - F(x), \quad y' = -x - \phi(x) + p(t). \quad (2.1)$$

Passing to polar coordinates, $x = r \sin \theta$, $y = r \cos \theta$, we get

$$\begin{aligned} r' &= [p(t) - \phi(r \sin \theta)] \cos \theta - F(r \sin \theta) \sin \theta \\ \theta' &= 1 - [p(t) - \phi(r \sin \theta)] r^{-1} \sin \theta - F(r \sin \theta) r^{-1} \cos \theta \end{aligned} \quad (2.2)$$

Since p , ϕ , F are bounded, we have, for r sufficiently large,

$$|[p(t) - \phi(r \sin \theta)] r^{-1} \sin \theta + F(r \sin \theta) r^{-1} \cos \theta| < 1,$$

then $\theta' > 0$. That is, there exists $r_1 > 0$, for any $r > r_1$, $t \mapsto \theta(t)$ is a diffeomorphism, and then the equation is changed into

$$\frac{dr}{d\theta} = g_1(r, t, \theta), \quad \frac{dt}{d\theta} = g_2(r, t, \theta), \quad (2.3)$$

where g_1 , g_2 are defined as

$$\begin{aligned} g_1 &= \frac{[p(t) - \phi(r \sin \theta)] \cos \theta - F(r \sin \theta) \sin \theta}{1 - [p(t) - \phi(r \sin \theta)] r^{-1} \sin \theta - F(r \sin \theta) r^{-1} \cos \theta} \\ g_2 &= \frac{1}{1 - [p(t) - \phi(r \sin \theta)] r^{-1} \sin \theta - F(r \sin \theta) r^{-1} \cos \theta} \end{aligned}$$

It is easy to verify that, by our assumptions

$$g_1(r, -t, -\theta) = -g_1(r, t, \theta), \quad g_2(r, -t, -\theta) = g_2(r, t, \theta).$$

So the system (2.2) is reversible under the involution $(r, t) \mapsto (r, -t)$. To estimate subsequent error terms, we need to introduce some convenient notations.

Definition. Function $f : \mathbb{R}^+ \times \mathbb{R} \times \mathbb{R} \times (0, \epsilon_0) \rightarrow \mathbb{R}$ given by $(r, t, \theta; \epsilon) \mapsto f(r, t, \theta, \epsilon)$ is called in $O_n(r^{-j})$, if it is smooth in (r, t) , continuous in θ , periodic of 2π in both t and θ , and

$$\left| r^{k+j} \frac{\partial^{k+l}}{\partial r^k \partial t^l} f \right| \leq M, \quad 0 \leq k+l \leq n,$$

for some constant $M > 0$, and all (r, t, θ) , uniformly in ϵ .

A function f is called in $o_n(r^{-j})$, if

$$\lim_{r \rightarrow +\infty} \left| r^{k+j} \frac{\partial^{k+l}}{\partial r^k \partial t^l} f \right| = 0, \quad 0 \leq k+l \leq n,$$

uniformly in (t, θ, ϵ) .

Write the functions g_1 and g_2 in the form

$$g_1(r, t, \theta) = [p(t) - \phi(r \sin \theta)] \cos \theta - F(r \sin \theta) \sin \theta + h_1(r, t, \theta),$$

$$g_2(r, t, \theta) = 1 + [p(t) - \phi(r \sin \theta)]r^{-1} \sin \theta + F(r \sin \theta)r^{-1} \cos \theta + h_2(r, t, \theta).$$

By the assumptions (A3) and (A4), it follows that

$$\left| r^l \frac{\partial^l \phi(r \sin \theta)}{r^l} \right| + \left| r^l \frac{\partial^l F(r \sin \theta)}{r^l} \right| \leq M, \quad 0 \leq l \leq 6,$$

so it is easy to verify that $h_1 = O_6(r^{-1})$.

Since $p(t)$ is periodic and C^6 , we have $\left| \frac{d^l p(t)}{dt^l} \right| \leq M$, $0 \leq l \leq 6$. So, $p(t) = O_6(1)$.

Similarly, we have $h_2 = O_6(r^{-2})$, and finally we get

$$g_1(r, t, \theta) = [p(t) - \phi(r \sin \theta)] \cos \theta - F(r \sin \theta) \sin \theta + O_6(r^{-1}),$$

$$g_2(r, t, \theta) = 1 + [p(t) - \phi(r \sin \theta)]r^{-1} \sin \theta + F(r \sin \theta)r^{-1} \cos \theta + O_6(r^{-2}).$$

Lemma 2.1 *Under the transformation:*

$$\begin{aligned} \lambda &= r + S(r, \theta), \\ S(r, \theta) &= \int_0^\theta [\phi(r \sin \psi) \cos \psi + F(r \sin \psi) \sin \psi] d\psi, \end{aligned}$$

The system (2.2) is transformed into

$$\begin{cases} \frac{d\lambda}{d\theta} = p(t) \cos \theta + O_6(\lambda^{-1}) \\ \frac{dt}{d\theta} = 1 + [p(t) - \phi(\lambda \sin \theta)]\lambda^{-1} \sin \theta + F(\lambda \sin \theta)\lambda^{-1} \cos \theta + O_6(\lambda^{-2}) \end{cases} \quad (2.4)$$

The new system (2.4) is reversible with respect to $(\lambda, t) \mapsto (\lambda, -t)$.

Proof. From the assumptions (A3) and (A4), we have

$$\begin{aligned} \left| \frac{\partial S(r, \theta)}{\partial r} \right| &\leq \int_0^{2\pi} (|\phi'(r \sin \psi) \sin \psi \cos \psi| + |F'(r \sin \psi) \sin^2 \psi|) d\psi \\ &\leq \int_0^{2\pi} \left(\left| \frac{M}{r} \right| |\cos \psi| + \left| \frac{M}{r} \right| |\sin \psi| \right) d\psi \\ &= \frac{M}{r} \int_0^{2\pi} (|\cos \psi| + |\sin \psi|) d\psi \\ &\leq Cr^{-1}. \end{aligned}$$

Furthermore, one can verify that $S = O_6(1)$. Hence, there existing $r_2 > 0$, such that, for $r > r_2$, the transformation $(r, t) \mapsto (\lambda, t)$ with $\lambda = r + S(r, \theta)$ is a diffeomorphism. By a direct computation, under this transformation, the system (2.2) is changed into the system (2.4). On the other hand, by the assumption (A2), it follows that

$$S(r, \theta + 2\pi) = S(r, \theta), \quad S(r, -\theta) = S(r, \theta),$$

so the system (2.4) is reversible with respect to the involution $(\lambda, t) \mapsto (\lambda, -t)$. \square

Lemma 2.2 *Under the transformation $(\lambda, t) \mapsto (\lambda, \tau)$, where*

$$\tau = t - L(\lambda, \theta), \quad L(\lambda, \theta) = \lambda^{-1} \int_0^\theta F(\lambda \sin \psi) \cos \psi d\psi,$$

(2.4) is changed into

$$\begin{cases} \frac{d\lambda}{d\theta} = p(\tau) \cos \theta + O_6(\lambda^{-1}) \\ \frac{d\tau}{d\theta} = 1 + [p(\tau) - \phi(\lambda \sin \theta)]\lambda^{-1} \sin \theta + O_5(\lambda^{-2}) \end{cases} \quad (2.5)$$

The new system (2.5) is reversible with respect to $(\lambda, \tau) \mapsto (\lambda, -\tau)$.

Proof. Note that $\int_0^{2\pi} F(\lambda \sin \psi) \cos \psi d\psi = 0$, we have $L(\lambda, \theta + 2\pi) = L(\lambda, \theta)$. Moreover, from the evenness of F , it follows that $L(\lambda, -\theta) = -L(\lambda, \theta)$.

Similar to the discussions in Lemma 2.1, we have

$$|\lambda L| \leq \int_0^{2\pi} |F(\lambda \sin \psi) \cos \psi| d\psi \leq C,$$

and

$$\left| \lambda^2 \frac{\partial L}{\partial \lambda} \right| \leq |\lambda L| + \int_0^{2\pi} |\lambda F'(\lambda \sin \psi) \sin \psi \cos \psi| d\psi \leq C.$$

Inductively, one can prove that

$$\left| \lambda^k \frac{\partial^k L}{\partial \lambda^k} \right| \leq C,$$

for $0 \leq k \leq 6$. Hence, $L(\lambda, \theta) = O_6(\lambda^{-1})$. Since

$$\frac{d\tau}{d\theta} = \frac{dt}{d\theta} - \left(\frac{\partial L}{\partial \lambda} \frac{\partial \lambda}{\partial \theta} + \frac{\partial L}{\partial \theta} \right),$$

we have

$$\frac{d\tau}{d\theta} = 1 + [p(\tau) - \phi(\lambda \sin \theta)]\lambda^{-1} \sin \theta + O_5(\lambda^{-2}).$$

From $L(\lambda, -\theta) = -L(\lambda, \theta)$, it follows that (2.5) is reversible with respect to the involution $(\lambda, \tau) \mapsto (\lambda, -\tau)$. \square

Remark 3. If the functions f, ϕ and p satisfy the assumptions (a1)-(a5) in Theorem 1, it is not difficult to obtain similar estimates as in Lemmas 2.1 and 2.2.

3 The Proofs of the main results

In this section, we first give an expression of Poincaré map of (2.5) and then apply the result by Chow and Pei [2] to obtain the existence of Mather sets.

Introduce a new variable ρ and a small parameter ϵ by $\lambda^{-1} = \epsilon\rho$, $\rho \in [1/2, 2]$. Under this change of variables, the system (2.5) is transformed into

$$\begin{cases} \frac{d\rho}{d\theta} = -\epsilon\rho^2 p(\tau) \cos \theta + \epsilon^2 O_6(1) \\ \frac{d\tau}{d\theta} = 1 + \epsilon[p(\tau) - \phi(\epsilon^{-1}\rho^{-1} \sin \theta)]\rho \sin \theta + \epsilon^2 O_5(1). \end{cases} \quad (3.1)$$

We make the ansatz

$$\rho(\theta; \rho_0, \tau_0) = \rho_0 + \epsilon F_1(\theta; \rho_0, \tau_0, \epsilon), \quad \tau(\theta; \rho_0, \tau_0) = \tau_0 + \theta + \epsilon F_2(\theta; \rho_0, \tau_0, \epsilon)$$

for the solution of (3.1), then we get

$$\begin{cases} \frac{\partial F_1}{\partial \theta} = -(\rho_0 + \epsilon F_1)^2 p(\tau_0 + \theta + \epsilon F_2) \cos \theta + \epsilon O_6(1) \\ \frac{\partial F_2}{\partial \theta} = [p(\tau_0 + \theta + \epsilon F_2) - \phi(\epsilon^{-1}(\rho_0 + \epsilon F_1)^{-1} \sin \theta)](\rho_0 + \epsilon F_1) \sin \theta + \epsilon O_5(1) \end{cases} \quad (3.2)$$

$$F_1(0; \rho_0, \tau_0, \epsilon) = F_2(0; \rho_0, \tau_0, \epsilon) = 0.$$

Noticing that

$$\begin{aligned} F_1 &= \epsilon^{-1}(\rho - \rho_0) = \epsilon^{-1}\theta \int_0^1 \rho'(\xi\theta; \rho_0, \tau_0, \epsilon) d\xi \\ &= \epsilon^{-1}\theta \int_0^1 [-\epsilon\rho^2(\xi\theta; \rho_0, \tau_0, \epsilon)p(\tau) + \epsilon^2 O_6(1)] d\xi \\ &= O_6(1) + \epsilon O_6(1) = O_6(1), \end{aligned}$$

and similar steps on F_2 , we get

$$F_1 = O_6(1), \quad F_2 = O_5(1).$$

Back to (3.2), we have

$$\begin{aligned} F_1(2\pi; \rho_0, \tau_0, \epsilon) &= -\rho_0^2 \int_0^{2\pi} p(\tau_0 + \psi) \cos \psi d\psi + \epsilon O_6(1), \\ F_2(2\pi; \rho_0, \tau_0, \epsilon) &= \rho_0 \int_0^{2\pi} p(\tau_0 + \psi) \sin \psi d\psi - \int_0^{2\pi} \phi(\epsilon^{-1}\rho_0^{-1} \sin \psi) \rho_0 \sin \psi d\psi + \epsilon O_5(1). \end{aligned}$$

Lemma 3.1 *If ϕ satisfies the condition (a5), then*

$$\lim_{\lambda \rightarrow +\infty} \lambda^\sigma \left[\int_0^{2\pi} \phi(\lambda \sin \theta) \sin \theta d\theta - 4\phi(+\infty) \right] = 2C_+ \int_0^\pi \sin^{1-\sigma} \theta d\theta := C_0.$$

Proof. Because ϕ is an odd function, it follows from Lebesgue convergent theorem and (a5) that

$$\begin{aligned} \lambda^\sigma \left[\int_0^{2\pi} \phi(\lambda \sin \theta) \sin \theta d\theta - 4\phi(+\infty) \right] &= 2 \int_0^\pi (\lambda^\sigma \sin^\sigma \theta) [\phi(\lambda \sin \theta) - \phi(+\infty)] \sin^{1-\sigma} \theta d\theta \\ &\rightarrow 2C_+ \int_0^\pi \sin^{1-\sigma} \theta d\theta, \end{aligned}$$

as $\lambda \rightarrow +\infty$. \square

In the following, we assume C_0 is positive.

From this lemma, we have

$$\int_0^{2\pi} \phi(\epsilon^{-1} \rho_0^{-1} \sin \psi) \sin \psi d\psi = 4\phi(+\infty) + \epsilon^\sigma (C_0 + o(1)).$$

Since p is odd and 2π -periodic, we have

$$\begin{aligned} \int_0^{2\pi} p(\tau_0 + \psi) \sin \psi d\psi &= \cos \tau_0 \int_0^{2\pi} p(\psi) \sin \psi d\psi, \\ \int_0^{2\pi} p(\tau_0 + \psi) \cos \psi d\psi &= \sin \tau_0 \int_0^{2\pi} p(\psi) \sin \psi d\psi. \end{aligned}$$

Then,

$$F_1(2\pi; \rho_0, \tau_0, \epsilon) = -\rho_0^2 \sin \tau_0 \int_0^{2\pi} p(\psi) \cos \psi d\psi + \epsilon O_6(1),$$

$$F_2(2\pi; \rho_0, \tau_0, \epsilon) = \rho_0 \cos \tau_0 \int_0^{2\pi} p(\psi) \sin \psi d\psi - 4\phi(+\infty)\rho_0 - \epsilon^\sigma \rho_0 C_0 + \epsilon^{1+\sigma} O_5(1).$$

Finally,

$$\begin{aligned} \rho_1 &= \rho_0 - \epsilon \rho_0^2 \sin \tau_0 \int_0^{2\pi} p(\psi) \cos \psi d\psi + o_6(\epsilon), \\ \tau_1 &= \tau_0 + 2\pi + \epsilon \rho_0 \left(\cos \tau_0 \int_0^{2\pi} p(\psi) \sin \psi d\psi - 4\phi(+\infty) \right) - \epsilon^{1+\sigma} C_0 \rho_0 + o_5(\epsilon^{1+\sigma}), \\ \frac{\partial \tau_1}{\partial \rho_0} &= \epsilon \left(\cos \tau_0 \int_0^{2\pi} p(\psi) \sin \psi d\psi - 4\phi(+\infty) \right) - \epsilon^{1+\sigma} C_0 + o_4(\epsilon^{1+\sigma}). \end{aligned}$$

Since

$$4|\phi(+\infty)| = \left| \int_0^{2\pi} p(t) e^{int} dt \right|$$

and $\phi(+\infty) \geq 0$, we can choose ϵ sufficiently small, such that

$$\frac{\partial \tau_1}{\partial \rho_0} < 0.$$

This means that the Poincaré map has monotone twist property.

Using similar arguments in [11], one may extend the map to a new one which is globally monotone twist map and guaranteed by Aubry-Mather theory for reversible systems (see [2]). From the above discussion, we make to the conclusion that there exists $\epsilon_0 > 0$, such that for any $\omega \in (n, n + \epsilon_0)$, Eq. (1.1) possesses a solution $(x_\omega(t), x_\omega'(t))$ of Mather-Type with rotation number ω . The proof of Theorem 1 is completed.

Furthermore, when

$$4|\phi(+\infty)| = \left| \int_0^{2\pi} p(t)e^{int} dt \right| = 0,$$

we have

$$\rho(2\pi; \rho_0, \tau_0, \delta) = \rho_0 + \delta o_4(1), \quad \tau(2\pi; \rho_0, \tau_0, \delta) = \tau_0 + 2\pi - \delta C_0 \rho_0 + \delta o_4(1),$$

with $\delta = \epsilon^{1+\sigma}$.

Hence the existence of invariant curves is guaranteed by Moser's twist theorem with small twist. The solutions starting from these curves are quasi-periodic. Moreover, because these curves tend to infinity, all solutions of (1.1) are bounded.

Final Remark. The main results in this paper are true for the following general equation

$$x'' + F_x(x, t)x' + n^2x + \phi(x, t) = 0,$$

where the functions F and ϕ are bounded and periodic in t . However, in this case, some cumbersome estimates are needed. For the existence of invariant tori and classical quasi-periodic solutions, we refer to [8].

References

- [1] A. Capietto and B. Liu, Quasi-periodic solutions of a forced asymmetric oscillator at resonance, *Nonlinearity Analysis*, **56**(2004), 105-117.
- [2] S.-N. Chow and M.-L. Pei, Aubry-Mather theorem and quasiperiodic orbits for time-dependent reversible systems, *Nonlinear Analysis TMA* **25**(1995), 905-931.
- [3] R. Dieckerhoff and E. Zehnder, Boundedness of solutions via the twist theorem, *Ann. Scuola. Norm. Sup. Pisa, Cl. Sci.* **14**(1987), 79-95.
- [4] M. Kunze, T. Küpper, B. Liu, Boundedness and unboundedness of solutions of reversible oscillators at resonance, *Nonlinearity*, **14**(2001), 1105-1211.
- [5] M. Levi, Quasi-periodic motions in superquadratic time-periodic potentials, *Comm. Math. Phys.* **143**(1) (1991), 43-83.
- [6] B. Liu, Boundedness in nonlinear oscillations at resonance, *J. Differential Equations*, **153**(1999), 142-174.
- [7] B. Liu, Boundedness of solutions for equations with p-Laplacian and asymmetric nonlinear term, *J. Differential Equations*, **207**(2004), 73-92.

- [8] B. Liu, Quasi-periodic solutions of a semilinear Liénard equation at resonance, *Science in China*, **48**(2005), 1234-1244.
- [9] B. Liu and F. Zanolin, Boundedness of solutions of nonlinear differential equations, *J. Differential Equations* **144**(1998), 66-98.
- [10] G. Morris, A case of boundedness of Littlewood's problem on oscillatory differential equations, *Bull. Austral. Math. Soc.* **14**(1976), 71-93.
- [11] M.L. Pei, Aubry-Mather Sets for Finite-Twist Maps of a Cylinder and Semilinear Duffing Equations, *J. Differential Equations*, **113**(1994), 106C127.
- [12] R. Ortega, Asymmetric oscillators and twist mappings, *J. London Math. Soc.*, **53**(1996), 325-342.
- [13] R. Ortega, Boundedness in a piecewise linear oscillator and a variant of the small twist theorem, *Proc. London Math. Soc.* **79**(1999), 381-413.
- [14] J. You, Boundedness for solutions of superlinear Duffings equations via Moser's twist theorem, *Science in China* **35**(1992), 399-412.,